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90dm?® = ( )m® 1. 02m® =( )dm?® 34L=( )dm?®
4L=( )mlL. 480mL=( )L 2. 8dm?*=( )mL
kT DR
17X (12—10)= 40=(5X4)= (27—7)=+5=
6X(3+2)= 9+—(1.5X2)= (80—65)+3=
40X (7.6—6)= 3.2+—(0.8X2)= (24-+66)+15=
16 X (6+4)= 16=(2X2)= (3.9+1. 1) —+2=
8OX (8. 5—8)= 10+=(5X5)= (65—5)+—20=
5X(2.5+1.5)= 200 (10X10)= (98—43)+11=
75X (10—6)= 4,2 (6 X7)= (12.7+1.3) 7=
A5X(7T+1)= 15+—(2.5X2)= (66+34)-+-50=
10X (9—7.3)= 90+ (30X 3)= (7.5—3)=+0.9=
9X(3.4+6.6)= 72+—(6X6)= (56—16)+4=
20X (11—10.5)= 98— (7TX7)= (47+3)+25=
30X (9+6)= 6.4—(8X8)= (32+28)+-30=
7X(12.5—12.3)= 1.21-(11X11) = (90—9)+9=
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TR
17X5= 202 = 0. 15 =
16X 30= 10*= 0. 25 =
35X 4= 0.5%= 0. 3% =
BEHN
12X (8—2)= (11—2)2= (3—2)°=
12X (12—2)= (10—2)2= (4—2)°=
12X(3—2)= 6X (3—2)2= (7—2) =
12X (5—2)= 6X (5—2)= (6—2)%=
12X (4—2)= 6X (4—2)2= (9—2)3=
12X(6—2)= EX(6—2)2= (5—2)3=
12X (7T—2)= 6 X (7—2)2= (§—2)7 =
12X (9—2)= 6X(12—2)2= (10—2)%=
12X (10—2)= 6X(22—2)*= (11—2)*=
12X (22—2)= 6 (8—2)%= (12—2)%=
12X (32—2)= 6X(32—2)*= 12X5X6=
; 12X (42—2)= 6X (42—2)*= HXH5X 8=
10 12X (52—2)= 6 X (52—2)*= 4 X4 X 3=
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SIX(5—3)=

2.5X(8—6)=

4,02X4X5=

4 X8 X1, 25=

22X 3=

3X2.5X2=

12X0. 2X3=

1.5 X6 X4=

2. 5X17.4X4=

40 X50--1000=

14 X1000=-700=

40X 25X 3=

9°+-9--9=

0. 5 X4X11=

260X 30-+-1000=

(3+5+7) X4=

2.4=-3+2=

EXEXK(8—T7)=

12X2.5+28X2.5=

4.5+-3+3=

0.2X0,2X300=

(25420+15) X2=

0. 5m®=( ) dm?®

50cm?® = ( )L

400em?® = ( )L

30X0. 8+6=

OXTXE8=

2. 0X13X4=

4X1.5=+6=

0. 2ZX8X5=

1. 25 X7 X 8=

3.2X5+4=

6X6X5=

2. 5X6X4=

26 X1.7TX4=

26 X1000-+-130=

3. 260, 5X 2= .
A
4X4X(3—2.5)= 1
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7.5X3+7.5= 6X6X(5—3)= 18dm?* = )m’®
72—12X6= 0.4X4X4= 0. 02dm* = )cm?®
8X(70+30)= 0. 3XX0. 4X0. 2= 1. 03m*= )dm?®= )L
45-+-3+15= 0. 2X0. 2X400= 20. SLL=( )mlL=( )dm’
2.4+—4—0.2= (12+28) X4= 5. 4L=( )cem?
64-+—4—10= 4X(2.5X2)= 200m® = )L
12.8+4—1. 2= (6.5+2.5) X6= 3030mL.=( L
(90—18)=+12= 1500+-5—100= 20L.=( )dm® = ( )mL
7.9X11—7.9= 8. 5X4—4,5X4= 4. 05dm®* = )ml.
(10+12) X6= 1.2X1.2X5= 16000cm® = )dm®
0. 3X0.4X6= 320=+—2-—-5= 10. 08dm® =( )cm?®
(24—12)=+2= 2. 4X1000+60= 8. 6dm® = Yem?® = ( YL
4 XEX(3—2.5)= (50—16)=10= 204ml.=( YL=( )dm’
A 30X15X4= 3P—28= 0. 02m® = ( )dm?® = ( )cm’
A
12 27--0.3—90= IX2XK4AX2= 4003dm® = ( )m’®
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12X 7= 84-—+-6= 35 X20=
400—270= 420—+—4= 61 X4=
76+34= 28+79= 40 X50=
3CET PR
7.5X4X2= 410X 7—+—10= 55=+=11+8=
5.5 X8X 2= 0.36+=0.4+1= 7TX19-+7=
3.5 X4 X5= 0. 65X94-0. 65= 45-+50+455=
18X 15X 4= 9+4.5X0., 2= 25 X T X 8=
3.4 X5X6= 0.4X3+1.8= 198+98+4=
1. 2X0.8X0. 5= 76 X99-+76= 800—+—16—+5=
25X2.5X2= (12+8) X47= 150—60+90=
8X3.5X2= 64—2—10= 10—5.3—4.7=
TX5X2. 4= 96+—3-+2= 2.4-+0.2X10=
2.5X0.4X0. 8= 140=704+8= 1. 82-+5.4+0. 18=
4X1,.5X0.6= 500-+-25-+—20= 4,5X944, 5=
3. 8X5X2= 400—50 X 8= 100+12. 5+8=
0.5X0. 3X0. 2= EX12-+-6= (16+17) X4=
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R
A XT7T= 30X 8= 40 X90=
40X 7= 40X 6= 60 X60=
4 XT70= 20X12= 12X 30=
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14-+—2= 420-—70= 50+25=
19-+-3=( JEETTLE ( ) 450+30= 26—13=
40--2= 360-+-30= 48—=—12=
8§+—3=( DEETTLT ( ) 320+—80= 90+-22= Yeeeoes ( )
9-+-4=( DEXIREE ( ) 48—+—60= 93-+-31=
23-—23= 160—40= 96+32=
36+—4= 16+-40= 56-=+-14=
26+—5=( JEETIEN ( ) 208+4= 100—25=
63+—7= 350-=+-50= 201-—-50=
32+-8= 12--30= 200—100=
27—6=( DRETTLT ( ) 81+—3= 100+—-90=

A 80+—4= 41-+-20=( DEXTTLE ( ) 12-—10=( JEETIEN ( )
16 70==9=(  )eeeees C ) 28+9= JEETIEN C ) 3020=(  )eeeee- C )
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1. REGHS
(2)
TR

1 X18= 1 X36= 4 X 9=

2X9= 2X18= 6X6=

3X6= 3X12= 9 X 4=

T BEH3

12+1= 20-=-1= 48=1X( )

12+2= 20--2— 48=2 X ( )

12+3= 24--3= 48=3 X ( )

12+—4= 24-+—4= 48=4 X ( )

12+-6= 24--6= 48=6X( )

12—12= 24-—8= 72=1X( )

30+—1= 24-—12= 72=2X( )

30+-2= 24--24= 72=3X( )

30-+—3= 45-—+-1= 72=4X( )

30+—5= 45-+-3= 72=6X( )

30+-6= 45-—5= 72=8X( )

30+—10= 45--9= 26=1X( ) A
A

30—15= 45-=-15= 26=2 X ( ) 15
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1. GRS

(3)
TR
56-=+—2= 28—1= 50-=+-50=
56-+-4= 28—+—2= 50=10=
56+—7= 28+4= 50+—25=
T BEH3
30X1= 12X1= 25X 1=
30X2= 12X 2= 25 X 2=
30 X3= 12X 3= 25 X 3=
30 X4= 12 X4= 25 X 4=
30X5= 12X5= 25 X5=
30 X6= 12X6= 25X 6=
30X 7= 12X7= 25 X 7=
30X 8= 12X 8= 25 X 8=
30 X9= 12X 9= 25 X9=
30X10= 12X10= 25 X10=
30X11= 104 X 1= 104 X 4=
A 30X12= 104 X 2= 104 X5=
A
16 30X13= 104 X 3= 104 X 6=
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60=2X( )
60=3X( )

60=4X( )

1 3A,

2X10=
2X11=
2X12=
2X13=
2X14=
2X15=
2X16=
2X17=
2X18=
2X19=
2X20=
2X21=

e SUl=

1. &GS
(4)

LA
36=2X( ) 64=2X( )
36=3X( ) 64=4X( )
36=4X( ) 64=8X( )

T BEHI

2. TEFh 5 B AT ARl 2

50+2= 70C )
52+2= 55C )
54-2= 132 C )
56-2= 758 )
58-+2= 469 ()
90-+2= 8016 ()
82+2= 11001C )
T4-2= 7772 C )
66-2= 1044 ¢ )
68+2= 33336( )
102+2= 56587C )
134=2= 57930C ) A
116+2= 1001 ¢ ) 17
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1. GRS

(5)
TR
44X 2= 141 X 2= 201 X2=
2X70= 307 X 2= 113 X2=
105X 2= 54 X 2= 37 X2=
T BEH3
5X20= 60—5= 100+ (2X5)=
5X21= 65—5= 100+—2-—-5=
S5X22= 70—5= 480—+—(2X5)=
5X23= 75—5= 480+2-—+-5=
5X24= 80+5= 240+—(2X5)=
5X25= 85—+—5H= 240+2-—-5=
5X26= 90-=+-5H= 130+—(2X5)=
5X27= 95-=+-5= 130—2-+-5=
5X28= 250—+—5= 900+ (2X5)=
HX29= 400-+-5= 900+—2--5=
5X30= 315-=+—5= 1000+ (2X5)=
A HOX3l= 305+—5= 1000—2-+5=
A
18 5X32= 600—+—5= 1000+-5-+2=
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1. GRS

(6)

= LEN »
1+8+3= 44+6+7= 7+9+43=
2+0+7= 2+42+2= 3+6+3=
44+1+7= 444+4= 3+0+6=

BEHB3
45+3= (4+5)+3= 54--3=
36+3= (3+6)+3= 63--3=
120+3= (1+2+0)+3= 210+3=
27+3= (2+7)+3= 72-3=
105+3= (140+5)+3= 150+3=
66-+3= (6+6)+3= 666+3=
111+3= (1+1+1)+3= 2X3X5=
609+3= (6+0+9)+-3= 60+-2+3-+5=
17X 3= (5+1)+3= 90+2-+3+5=
25X 3= (7+5)+3= 120+2-+3=+5=
73X 3= (2+1+9)+3= 180+2-+3-+5=
104X 3= (34+1+2)+3= 240+2+3+5=
246-+3= (2+4+6)+3= 360+2+3+5=
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TR
24-+—4= 24-—3= 20—6=
42--2= 42--3= 42+=7=
36+—3= 36+—6= 36+—-9=
CEL PR
1. FEF55 BLH B A 5L 2. F55 B 1 Y AR
79( ) 23+17= 134 ¢( )=24
21( ) 59+11= 23+ )=30
27( ) 31+19= 11+ ¢( y=14
29( ) 83+107= 34-( )=20
83( ) 59+23= 7+( =12
87( ) 71+113= ( )+ ( )=38
91¢( ) 67+137= ( )+ ( )=18
63( ) 13+23= ( )+ ( )=31
111¢ ) 97489= ( )+ ( ) =44
101( ) 59+4-53= ( )+ ( )=36
39¢ ) 41+23= ( )+ ( )+ ( )=10
N 43( ) 5+43= ( )+ ( )+ ( )y=15
2’; 67C ) 59-+29= C H+C HFC H=16
L

HRAER 1 ;AR MEALTREEH,



=i

SSOSSOSOSERERORUSEPREPSPRPRBEPEPEPRRPES .5 Sul155: S
3. R IR
(1)
CIRBING
12X 2= 12X 3= 12X 5=
2X18= AX14= 8X16=
15X 3= 18X 3= 26X 4=
-EL TR
SRR AL
(7,11 = (6,18)= (6,8)=
(5,13)= (16,32)= (12,8)=
(4,5)= (10,30) = (6,9)=
(8,9)= (5,10)= (12,15)=
(15,16) = (2,40)= (15,9)=
(9,10)= (20,200) = (14,21) =
(12,25)= (42,7)= (22,24) =
(26,49) = (12,48)= (15,18) =
(8,21)= (11,55)= (20,25)=
(17,50) = (40,80) = (4,14)=
(11,19) = (13,39)= (9,12)=
(20,21)= (25,100) = (33,21) = N
(12,13)= (200,40) = (28,35)= 21
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3. A
(2)
TR
(10,5)= (8,88)= (6,36)=
(32,24)= (40,45)= (90,100)=
(5,9)= (11,19 = 2,7)=
NET PR

T SRR R B [,

3 3 8
7L gL I
5 8 4
s 13 s
9 16 16
16 48 20
1 12 16
10 36 24
8 14 20
47D 56 16
14 50 14
15 60 18
25 14 2
27 35 8
5 18 10
1ZD 24 15

A

A 17 30 33

22 60 15 55

[
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G TIRN
3X4= 12X2= 24X 2=
13X5= 14 X5= 16 X5=
24 X 3= 24 X 4= 24 X5=

kT DR
BN UNYN A
[3,5]= [4,6]= [7,14 ]=
[4,9]= [2,10]= [11,5]=
[3,7]= [16,48 = [6,8]=
[8,9]= [13,26]= [4,10]=
[2,7]= [18,6 = [10,15]=
[3,16 = [14,42]= [20,30]=
[5,12]= [8,24 |= [10,25]=
[7,20]= [5,10]= [6,9]=
[2,45]= [63,7]= [16,24 |=
[100,3]= [100,4 |= [12,15]=
[30,13]= [280,70 = (9,14 |=
[1,8]= [18,54 = [20,25]=
[5,24 ]= [6,24 ]= [15,20]=
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Bp5es
X LON
27X 2= 12X 7= 560+—2=
46X 3= 3X2]= 171+3=
25X 5= 2%X160= 450~—5=
N-EL PR
2,0)= [4.5]= ST R4 B 1 5 A A
(3,12)= [6,8]= BURAE ( )W B /NS
(1,5)= [12,18]= el Il
6
(6,8)= [10,20]= 5 ¢ I
(12,18)= 11,121]=
! ] %( o]
(20,30)= [7.9]=
Loy
(11,121 = [36,24]= 10
(7,9)= [15,45]= %( [ ]
(24,36)= [9,12]=
%( o]
(15,45)= [8,10]=
0 57
(9,12)= [5,17]= 39
(8,10)= [17,51]= .
2o o]
A (11,13)= [9,12]=
A 8
oq (12,60)= [24,6]= 5 oL ]
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iy 8] x A # & A A
(45~48) (40~44) (33~39)
10 54
42=C X6 (15,5)= [56,8]=
22=(  )+3 (40,7)= [10,9]=
38 ( =2 (30,17)= [54,18]=
(  HIX7=91 (18,9 = [9.5]=
66—C  )=22 (16,13)= [20,6]=
65+C  )=5 (24,6)= [6,5]=
100+C  )=20 (58,39)= [7,35]=
20=C  )+7 (6,54)= [8,12]=
24-C  H=12 (21,37 = [30,9]=
120+-2-C =12 (12,13)= [14,4]=
30=13+C ) (42,6)= [14,28]=
48-+3-( )=8 (8,12)= [13,65]=
30+2+C =5 (9,12)= [8,88]=
24=C  H+C  HUHF¥D (12,10)= [49,7]=
=C O+  HUHFED (14,21) = [19,20]=
10=C H+C HUHEFRED (22,44)= [1,46]=
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MAhOFEENN

B ] % H B &% T A B B A
(40~43) (35~39) (28~34)
10 44
400, 5X30= (13+9. 6+6.4) X4= 0 F o B B O R
=] A>T
23X 4X 2. 5= 4.5X12= BAEC DN A
Borel I,
20X 0, 3X50= 5.5X4X2=
11
== ( ]
1000, 9+-9= 25X 5X 6=
7
(24— 16) = 4— (8--3-46) X 2— g oL
(25-+15)=5= 3. 5X5X 4= 14
: ) 35 ¢ ]
(3+6+9) X4= 12X 12X 5=
?—2( ]
0.4X0, 4 X 4= 4X2X1,5=
9
= ]
15X 1. 25X 8= 0. 9X0,9X0, 9=
2
1.4X6+3= 5X3.5X2= 62¢ 4l ]
9
2.5X11X4= 45X (5—4.6)= 13 ]
0.5X0.5X0. 5= 4X5X(7.2—6.8)= %< ]
4X4X2. 5= (370—250) +—40= 15
30 o]
7X2X1,5= 8X(8—7.5)=
1
5—‘2( ]
A 2.4X1000+120= 15X (4+2)=
A D
26 10X6X (8—3)= 50X (11—9.2)= 15
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10 40
18 72
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16 64
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17 68
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20 80
25 100
27 108
36 144
20 80
H2W
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5.3 12.8
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BE%3)
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530 22
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% 3R
ﬁw&ﬁ
450 0.4
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16 36
440 42

30
10. 8

72
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18 60 220
4] 10100
550000
81 0. 49 10000
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0.027 540 ¢ 1000
8000 17000 i 820
125000 54 L 600
0.064 52 960
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